| Efficiency vs Dxy |
> 05

dx

S
©
I
)]
[

......................................................................

o
N
|

e T e e

efficiency v

o
[
[

R

J_.l.Q||||;|||l;||||;llllllllll;llll;llll;llll

B0 T15C10 5 0 5 10 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPE_step2_tthar-phasel-newgeom

05 —— DQM_pixelCPEChi20R_step2_ttbar-phasel-newgeom

£0.45 f LI — SRR R
T | B S s
0.35 : e S FSSSSSR S
® : : : : :
s . & s S
sl
o2 L

dz

fficiency

Ratio

530 =2 i ) 10 2030
TP dz (cm)



	Contents
	Page 1


